

09/24/2019

Vendor Ranking

Page 1 of 1

08190910 Letting:

September 10, 2019 2:30

Call Order: 002

E8R81 Contract:

PM

Turnpike

Counties: LAKE

Fed Aid No: N/A

District:

Contract Time: 57 CALENDAR DAYS

Project(s): 44132225201 (*)

Contract Desc: RECONSTRUCT TPK (SR91) NB OUTSIDE TRAVEL LANE IN LAKE CNTY

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	VALENCIA CONSTRUCTION GROUP	Responsive	Winning bid	\$1,331,331.00	100.00%	Intent to Award
2	ATLANTIC CIVIL CONSTRUCTORS CORP	Responsive	Non-Winning Bid	\$1,349,116.97	101.34%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: SEPTEMBER 24, 2019 AT 4:00 P.M.



09/24/2019

Tabulation of Bids

Page 1 of 8

Letting:08190910September 10, 2019Call Order:002Contract:E8R81District:TurnpikeCounties:LAKEFed Aid No:N/A

Contract Time: 57 CALENDAR DAYS Project(s): 44132225201 (*)

Contract Descr: RECONSTRUCT TPK (SR91) NB OUTSIDE TRAVEL LANE IN LAKE CNTY

Work consists of providing all labor, materials, equipment and incidentals necessary for the Milling & Resurfacing, Base Work, Shoulder Treatment, Drainage Improvements, and other incidental construction on the Turnpike from Turnpike MP 289.178 to Turnpike MP 290.009 in Lake County.

No Pre-Bid Conference.

BUSINESS DEVELOPMENT INITIATIVE

Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at http://www.fdot.gov/equalopportunityoffice/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdiprojects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents.

The form may be accessed at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm.

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid. Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

For contracts over \$250,000.00, the Contractor shall supply to the Department and keep in force at all times during the term of this Contract, a Performance Bond provided by a surety authorized to do business in the State of Florida. A Performance Bond is not required for contracts \$250,000 and less.





Tabulation of Bids

Page 2 of 8

08190910 Letting: September 10, 2019 Call Order: 002

Contract: E8R81

The summary of pay items for this project is listed in the Plans.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) VALI CONSTRUCT		(2) ATLAN CONSTRUCT			
() indicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	0001 F	Roadway						
0005 0101 1 MOBILIZATION 4413222	25201	(1.000) LS	220,000.00000	220,000.00	129,852.23000	129,852.23		
0010 0102 1 MAINTENANCE OF TRA 44132225201	FFIC	(57.000) DA (LS)	27,841.42000	27,841.42	122,157.58000	122,157.58		
0015 0102 2 1 SPECIAL DETOUR 1 44	132225201	(1.000) LS	11,998.00000	11,998.00	18,543.12000	18,543.12		
0020 0102 2 2 SPECIAL DETOUR 2 44	132225201	(1.000) LS	7,998.00000	7,998.00	39,376.12000	39,376.12		
0025 0102 14 TRAFFIC CONTROL OF	FICER	316.000 HR	75.00000	23,700.00	106.35000	33,606.60		
0030 0102 60 WORK ZONE SIGN		1,220.000 ED	0.30000	366.00	0.19000	231.80		
0035 0102 71 16 TEMPORARY BARRIER STANDING	, F&I, FREE	1,260.000 LF	25.00000	31,500.00	19.00000	23,940.00		
0040 0102 74 1 CHANNELIZING DEVICE VP, DRUM, OR LCD	E- TYPES I, II,	6,517.000 DI, ED	0.20000	1,303.40	0.10000	651.70		





Tabulation of Bids

Page 3 of 8

Letting:	081909	10 Sep	tember 10,	2019 Ca l	II Order: 002		Contract:	E8R81	
	/ Item ID A	Alternate	Quantity Units	(1) VAL CONSTRUCT		(2) ATLAN CONSTRUCT			
() indicate	es item is bid as Lui	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
s	ECTION: 0001	Ro	adway						
	02 74 2 ZING DEVICE, TY	YPE III, 6'	32.000 ED	4.20000	134.40	3.25000	104.00		
	02 76 DARD / ADVANCE NNEL	E WARNING	57.000 ED	7.20000	410.40	6.00000	342.00		
	02 78 RY RETROREFLE I MARKER	ECTIVE	394.000 EA	4.80000	1,891.20	4.00000	1,576.00		
TEMPORAF	02 89 1 RY CRASH CUSH IVE OPTION	HION,	1.000 LO	1,500.00000	1,500.00	750.00000	750.00		
	02 99 CHANGEABLE I PORARY	MESSAGE	96.000 ED	10.00000	960.00	10.85000	1,041.60		
	02150 1 REGULATORY,	SIGN	114.000 ED	6.00000	684.00	5.00000	570.00		
	02150 2 EED DISPLAY UN	NIT	114.000 ED	6.00000	684.00	5.00000	570.00		
PAVEMENT	02912 2 「MARKING REM LOW, SOLID	OVABLE	2,773.000 LF	5.00000	13,865.00	2.50000	6,932.50		
0085 01 SEDIMENT	04 10 3 BARRIER		3,992.000 LF	4.00000	15,968.00	1.64000	6,546.88		





Tabulation of Bids

Page 4 of 8

Letting	j: 08	3190910	September 10,	2019 Cal	l Order: 002		Contract:	E8R81	
	No / Item ID Description	Alternate	e Quantity Units	(1) VAL CONSTRUCT		(2) ATLAN CONSTRUCT			
() indi	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
	0104 18 ROTECTION	SYSTEM	8.000 EA	400.00000	3,200.00	172.03000	1,376.24		
	0107 1 REMOVAL		28.730 AC	280.00000	8,044.40	242.38000	6,963.58		
0100 MOWING	0107 2 G		24.210 AC	280.00000	6,778.80	166.66000	4,034.84		
	0110 1 1 NG & GRUBB	ING 44132225	(1.580) 201 AC (LS)	46,000.00000	46,000.00	107,573.08000	107,573.08		
	0120 1 AR EXCAVATI	ON	1,827.000 CY	10.50000	19,183.50	58.17000	106,276.59		
0115 EMBANK	0120 6 KMENT		64.000 CY	9.30000	595.20	445.19000	28,492.16		
	0285709 AL BASE, BA	SE GROUP 09	3,264.000 SY	46.00000	150,144.00	48.20000	157,324.80		
OPTION	0285736 AL BASE- GR GATE, 24" FO 2-52-01		1,583.000 SY	105.00000	166,215.00	55.83000	88,378.89		





Tabulation of Bids

Page 5 of 8

Letting	g : 08	3190910	September 10,	2019 Ca	II Order: 002		Contract:	E8R81	
	No / Item ID Description	Alternate	Quantity Units	(1) VAL CONSTRUCT		(2) ATLAN CONSTRUCT			
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0130 MILLINO DEPTH	0327 70 19 G EXIST ASPH	I PAVT, 3/4" AV	10,629.000 G SY	1.50000	15,943.50	2.00000	21,258.00		
0135 MILLINO DEPTH	0327 70 33 G EXIST ASPH	I PAVT, 7 3/4" A	1,564.000 .VG SY	22.70000	35,502.80	10.00000	15,640.00		
0140 SUPER TRAFFI	0334 1 12 PAVE ASPHAI C B	_TIC CONC,	403.300 TN	192.00000	77,433.60	120.00000	48,396.00		
0145 SUPER TRAFFI	0334 1 14 PAVE ASPHAI C D	_TIC CONC,	344.100 TN	194.00000	66,755.40	120.00000	41,292.00		
	0334 1 52 PAVE ASPHAI C B, PG76-22	_TIC CONCRET	134.400 E, TN	198.00000	26,611.20	150.00000	20,160.00		
	0334 1 54 PAVE ASPHAI C D, PG76-22	_TIC CONCRET	172.100 E, TN	180.00000	30,978.00	150.00000	25,815.00		
_	0337 7 25 LT CONCRETI E, INC BIT, FO		490.700 TN	300.00000	147,210.00	175.00000	85,872.50		
0165 MISCEL	0339 1 LANEOUS AS	PHALT PAVEM	0.700 IENT TN	860.00000	602.00	2,589.95000	1,812.97		
0170 UNDER	0440 1 20 DRAIN, TYPE	II	577.000 LF	36.00000	20,772.00	69.83000	40,291.91		





Tabulation of Bids

Page 6 of 8

Letting) : 0819	0910	September 10,	2019 Cal	l Order: 002		Contract:	E8R81	
	No / Item ID Description	Alternate	Quantity Units	(1) VAL CONSTRUCT		(2) ATLAN CONSTRUCT			
() indi	icates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00	001	Roadway						
0175 UNDERD	0440 70 DRAIN INSPECTION	ON BOX	5.000 EA	3,400.00000	17,000.00	4,932.22000	24,661.10		
	0440 73 2 DRAIN OUTLET F	PIPE, 6"	218.000 LF	20.00000	4,360.00	55.11000	12,013.98		
	0446 1 1 RAIN DRAINCRE	TE, STAND	12.000 ARD LF	355.00000	4,260.00	160.93000	1,931.16		
	0446 71 1 RAIN OUTLET PIF	PE, 4"	42.000 LF	22.00000	924.00	91.80000	3,855.60		
	0538 1 RAIL RESET		75.000 LF	60.00000	4,500.00	53.33000	3,999.75		
	0546 72 1 D-IN RUMBLE ST	TRIPS, 16"	1.381 GM	12,000.00000	16,572.00	11,585.81000	16,000.00		
	0570 1 2 RMANCE TURF, S	SOD	7,604.000 SY	4.80000	36,499.20	4.76000	36,195.04		
PAINTED	0710 11101 D PAVEMENT MA NRD, WHITE, SOL		0.682 GM	1,320.00000	900.24	1,056.00000	720.19		
INITIAL (0999 25 CONTINGENCY A 0 44132225201	AMOUNT, D	(1.000) OO LS	50,000.00000	50,000.00	50,000.00000	50,000.00		



09/24/2019

Tabulation of Bids

Page 7 of 8

Letting:	08190910	September 10,	2019 Cal	l Order: 002		Contract:	E8R81	
Line No / Item Descri		ate Quantity Units	(1) VALENCIA CONSTRUCTION GROUP		(2) ATLANTIC CIVIL CONSTRUCTORS CORP			
() indicates it	em is bid as Lump Sur	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	FION: 0001 0001 Roadway	Roadway Section Totals:		\$1,317,788.66		\$1,337,127.51		
SEC	ΓΙΟΝ: 0002	Signing						
0220 0710 PAINTED PAV SURFACE 441	EMENT MARKINGS	(1.000) , FINAL LS	3,000.00000	3,000.00	3,000.00000	3,000.00		
	11103 TIC, STANDARD, W R INTERCHANGE	0.145 VHITE, GM	11,760.00000	1,705.20	9,768.00000	1,416.36		
	15101 TIC, STANDARD-O HALT SURFACES W		5,400.00000	2,986.20	4,488.00000	2,481.86		
GRADED ASPI	15131 TIC, STANDARD-O HALT SURFACES, N SKIP OR 3-9 LANE	VHITE,	1,584.00000	1,352.74	1,584.00000	1,352.74		
	TIC, STANDARD-O HALT SURFACES,	0.833 PEN GM	5,400.00000	4,498.20	4,488.00000	3,738.50		
, 301		Section Totals:	I	\$13,542.34		\$11,989.46		



09/24/2019

Tabulation of Bids

Page 8 of 8

Letting: 08190910

0 September 10, 2019

Call Order: 002

Contract:

E8R81

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.